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(Each question carries one mark. There is no negative marking}

General English-49

Choose the correct meaning of the following Indian words used in English or vice/versa?

i. Bund
A. Band B, Embankment C. Strike 0. None of the above

2. Kachahni / Kicheri

A. Market B. Courthouse C. Camp D. None of the above
3. Riet

A. Raiyat B. Riayat C. Ryat D. None of the above
4. Sipahi

A. Sepoy B. Chapatti C. Naone of the above D.BothAand B
5. Lakh

A, Lakh B. Lax C. Both of the above D. None of the above

Choose the correct meaning of the followings new werds related o modern technology:-

6. NETIZEN
A. A person who runs an internet

B. A person who spends excessive amount of time on the internet
C. A person who is new to use of computers
D. A person who is not used to internet

7. TECNOPLEGIC
A. A person who is not very knowledgeable about modern technology and gadgets and is

nervous about or refuctant in using it

B. A person who is not very knowledgeable about modern technology and gadgets

€. A person who has limited knowledge about modern technology and gadgets but shows
himself as an expert

D. None of the above

8. FLY-BY-WIRE
A. Controlling the flight of an aircraft by means of a system that is computer generated
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B. Controlling the flight of an aircraft
C. Am expert in computer programming and networking
D. None of the above

9. EMOTICON
A. A symbol
B. A symbo! made up of punctuation marks resembling human expressions
C. A symbol made up of actual figures representing messages hidden in it
D. MNone of the above

10. TECHNOLOGY BUTLER
A. An expert in hatel designing
B. An expert programmer who specifically designs software of hctels
€. A member of the staff of a hotel whose job is to perform technical tasks and help guesis
with computer related problems
D. None of the above

11. Choose the correct option where 'a’ is silent
A. Taught B. Cocon C. Lamb D. None of the above

12. Choose the correct uption where 'd’ is sitent
A. Descend B, Ledger C. Design D. None of the above

13, Choose the correct option where s’ is silent
A, Aisle B. Isle C. Island D. All the above

14, Choose the correct option where 'r’ is silent
A, Dwarf B. Bright C. Rogue D, Psychiatry

15. Choose the correct option where ‘w' is silent
A, Writhe B. Wren C. Wrench D. All the above

16. Choose the correct option where ‘¢’ is silent
A, Scissors B. Czar C. None of the above D. BothAandB

17. Young ones of Deer are called..........
A, Cygnet B. Fawn C. Foal D. Pup

18. Young ones of Kangaroo are called..........
A. Fry B. Joey C. Squb D. None of the above

19, Young ones of Pigeon are calied..........
A Fry B. Joey C. Squb . Nope of the above
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20.

2%,

C 23,

24.

25.

2€.

27.

28,

29.

30.

Young ones of Bee are called..........

A. Puma B. Larva C,

A place where aeroplanes are kept is called
A. Créche B. Hanger C. Colt

. A place where bees are kept is called......

A. Apiary B. Convent C. Form

A place where pigs are kept is called.........

A, Sty B. Jenny C. Brute
A number of swans are called...........

A. Bewy B. Herd C. Wedge
A number of snakes are called.........

A, Pit B. Bed . Nest

A number of leopards are called........
A. Congregation B. Leap C. Flock

To upset the apple cart means.....
A. To cause problem for someane
B. To express contempt

C. To remain neutral

D. Mone of the above

To turn over a new leaf means.....
A. To suspect something

B. To rain heavily

C. Exertinfluence

Leverat D. Mone of the above

............

D. None of the above

D. None of the above

D. Ewe

D. All the above

D. All the above

D. None of the above

D. To change one’s behaviour completety for the better

To draw the line means.....
To set a goal

B. Toseta limit

C. To start writing

0. None of the above

>

To be in the red means......
&. To be undecided
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B. In debt or deficit
C. To get very angry
D. Nene of the above

31. Antonym of Extrinsic is....

A, Severe B. Shallow C. Incidental  D. Inherent

32. Antonym of Incitement is....

A. Turmoil B. Stimulus C. Calm D. Excitement

33. Antonym of Ambiguity is....

A. Contamination B. Fester C. Maturate D. Transparency

34, Germ : Disease &
A, Doctor: Medicine
B. Shop-keeper: Goads
C. War: Destruction
D. Ecology: Pollution

35. Immigration: Entrance::
A. Emigration ;Departure
B. File:Knife
C. MNest :Bird
D. None of the above

Choose the correct single words for the followings:-

36. A door partly open

A. Autocrat 8. Ajar C. Circumnavigate
37. Land growing nothing

A, Fertile B. Barren C. Diluvia
38. One doing some special kind of work

A. Conductor  B. Ambassador C. Emissary

39. Animals living on grass

A. Herbivarous B. Graminivorous C. Grassyvorous
40. An estate free of rent

A. Rent free estate  B. Freehold . Lease land

Choose the correct appropriate prepgsitions:-

D. None of the above
D. Alluvial

D. None of the above
D. None of the above

D. None of the above

41, Persist.....

A, for 8. in C.to D, into
42, Irrespective......

A, To B. in C.of D. None of the above
43, Replete....

A. of B. with C.to D. Into
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44, Inured.......

A, Of B. to C. as D, Mone of the above
45, Mindful.....

A, Of B. to C. into D. For
45, Sick......

A Of B. to C.into D. None of the above
47. Superiar....

A To B. into C In D. None of the above
48. Tamper.....

A, Of B. into C. with D. None of the above
49, Void.....

A, In B. of C. into D. Mone of the above

General Knowledge with Computer Science-31
50. What is the largest gland in endocrine system of human body?
A, Thyroid 8. Lungs C. Heart D. None of the above
51. What is the normal body temperature of human?
A. 97.4 Degree Fahrenheit B. 98.4 Degree Fahrenheit C. 99 Degree Fahrenhbeit
D. None of the above
52. Typhaid is caused by.....
A. Helminths B, Bacteria C. Fungi D. Protozoa
53. Who was popularly called as ‘Lokapriya' is Assam?
A. Dr. Bhupen Hazarika B. Laxminath Bezbarua C. Gopinath Bordoloi D. None of the above
2% SO nerformed in the film-"The Great Dictator’.
A. Ben Kinsley  B. Charlie Chaplin C. Michel Douglas  D. None of the above
55. Who amongst the following discovered the sea route to Calicut from Western Europe?
A. Vasco da Gama  B. Christian Barnard C. Ludwig Van D. None of the above
56. Who discovered the principle of buoyancy (law of floating)?

A. Aryabhatta B. Saint Alphonsa  C. Archimedes  D. None of the above
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57. Pandit Shiv Kumar Sharma is assodiated with..........
A, Sarod B. Santoor C. Flute D. None of the above
58, These are the examples of Block Mountains in India

A. Garo and Khasi B. Aravallis and Nilgiris C. Vindhyas and Satpuras D. Western and Eastern
Ghats

59. Mulberry, Eri, Muga and Tussar are varieties of ... produced in India,
A. Wool B. Silk €. Cotton D. Jute
60. Part IV of the Constitution of India deals with...........
A. Duties of Indian Citizen B. Directive Principles C. Structure of the Government
0, Amendments
61. The draft proposal for a law is called ...
A. Privilege B. Moticn C. Ordinance p. Bifl
62. This Article empowers the President of India to declare emergency:
A. Article 342 B, Article 345 C. Article 349 D. Article 352
63. A major population of Tal Phake tribe reside in............
A, Taiphake village B. Namphake village C. Hambrum Village D. None of the above
64. Jaipur area of Naharkatia is known for it's..........
A. Tigers B. Rainforest C. Wild bears D. None of the above
65. Headquarter of West Karbi Anglong is............
A. Diphu B. Hamren C. Haflong D. None of the above
66. Xuwori festival is celebrated in............
A. Diphu B. Hamren C. Boko D. None of the above
67. Bhalukghata Satra, Haripur Satra and Chamaria Satra are situated in........
A, Majuli B. Boko C. Barpeta D. None of the above
B8, e was one of the first persons to establish tea garden in Assam.
A. John Brooklyn B. Sir Albert Manthes C. Maniram Dutta Baruah D, Mone of the above
69, i is the present Chief Election Commissioner of India.
A. Mr. Sunil Arora B. Mr. O.P.Rawat C. Mr. Chandra Bhusan Kumar D. None of the above
70, RSVP means..........
A. Reserved for persons
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B. Respondus sue vou plat
C. Respondez Sit Vous Plait
D. None of the above
71. VAN means...........
A. virtual Area Network
B. Visual Art Nomenclature
C. Virtual Ariel Network
D. None of the above
72. What is Peer-to-Peer?
A. Two PCs connected together to share files or a printer
B. One PC connected to two or more printers
C. all PCs connected 1o a single printer
D. None of the above
73. The domain .biz is for ..........
A, Name B. Business C. Jobs
74, Interpreter is used as a translator for......
A. Low Level Language B. High Level Language C. COBOL
75. A digitizer converts............ input into digital input.
A. Laser B. Digital €. Analog
76. The binary equivalent of decimal no. 105
A, 0010 B.10 C.1010

77. What does PC stand far?

D. Nane of the above

D.C

D. Complex

D.010

A. Program Changer B. Program Counter C. Performance Changer D. Performance Counter

78. What does USB stand for?
A. Universal Signal Board
B. Universa! Signal Bus
C. Universal Serial Bus
D). Universal Serial Board

79. Examination of the programme step by step is called.....
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A. Controlling B. Tracing C. Stepping D. Testing

80. Which of the following is not a data type?
A. Symbolic Data  B. Alphanumeric Data  C. Numeric Data b. Alphabetic Data

General Aptitude-20

Find the next term in the series in 81 and 82 :-

81. 3,8, 13, 18,......
A 23 B.28 C. 33 D.11
82. AZ C Y, E X G

Al B. K C. L D. W

83, Jadu is 24 years older than his son Madhu. After 2 years, the age of Jadu will be double the age
of Madhu. What is the present age of Madhu?

A, 14 B.18 C.20 D.22
84. 283 x 56 + 252 = 20«7
A. B03 B.8OS C.806 D. None of the above
85, 2/3™ of a number is 4 more than 176" of the same number. What is the number?
A. B B. 8 C.356 D.24
86. Half percent, written as decimal, is
A.0.2  B.0.02 C. 0.005 D.0.05

87. Mr. X bought a bed and sold it at a loss of 20%. If he had bought it for 10% less and sold it at
Rs. 999/- more than the previous selling price, he would have made a profit of 30%. Find the original
cost price of the bed.

A.Rs.2,850/- B.Rs.2,700/- CRs.3,000/- D Rs.2,900/-

883. A buys an article at Rs.700/- and sells it to B at profit of 5%. B sells the same to C at a loss of
10%. How much C paid?

A. R.680.50/- B. Rs.661.50/- C. Rs.671.50/- 0. Rs.699.50/-
89. Total profit of Rs.3600/-is to be distributed amongst A, B and C as follows:
A: B=5:4 and B: C=8:9. What is the share of C in the profit?

A. Rs, 1200 B.Rs.1500 C.Rs. 1650 D.Rs, 1700

90, ZNJV: YMIU:: BLIW: 7

A, AKIV B. CHD C.BTTA b, 2GHI
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91. In a line of 40 students, John stood at 30% position from left and Karan stood at 35 position
from right. How many students would be there between John and Karan?

A 23 B. 25 C. 22 0. 21

92, 13 chairs and 5 tables were brought for Rs. 8,280. If the average cost of a table is Rs. 1,227,
then the average cost of chair is

A. Rs. 150 B. Rs. 160 C.Rs. 165 D. Rs, 175
93, 1f x= {1/3) y and y= (1/2) z; thenx: y: z s equal to
A. 1:2:6 B, 1:3:6 C. 2:4:6 0.3:2:1

94. 4/7 of the birthday cake was eaten on your birthday, The next day, your dad ate Y2 of what
was left. You want to finish the cake now. Find out how much is left?

A.Ya B. 3/2 C. 3% D. 3/14
95. If the sides of a triangle are 26 cm, 24 cm and 10 cm, what is its area?
A 120 cm? B.130¢cm?  C.312ew? D 315cm’
96. A sum of Rs. 2665 is lent into two parts so that the interest on the first part for 8 years at 3%

per annum may be equal to the interest on the second part for 3 years at 5% per annum. Find the
secand sum?

A.Rs.1678 B. Rs.1640 C. Rs.2341 D. None

G7. On a certain sum, the simple interest at the end of 12 V2 years becomes % of the sum. What
is the rate percent per annum?

A 4% B.5% C.6% D.8%

98. Which does not belongs to this sequence?

] @ o0 e 8 O ® O

l@@ O @ @ 0O
A B C D E F G

ALA B. B C.D D.E

99, If you have me, you want to share me. If you share me, you haven't got me. What am I?
A. Money B. Secret C. Property D. None of the above

100. What occurs once in every minute, twice in every moment, yet never in a thousand years?

A. Second B. Minute C. Letter M D. Hour
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Assamese-20

{Assamese Language Segment)
Sl - 20

Prafife awes b ve e TR SREueTe-

AR Ble WA B | OF W3- TAFR TR AT | ¥SHs 1 i, e Sp1-9AS 0w O W A | Ot 154 A
o1, welf 1 B g vyl IS | (RSUICS “oip =I5 W, TP were feetel ifft TR Wi Sirer =i |
S STES Sl T S, T T ARSI [ T AL AGUE, (% T WZ e o Gt 3 4 A4S T
% ofa @ 2, T 5 A o b4 A S o e v G T, AR AR (T
cerafi R A, B BT I T SHT; S G A1 Rrier F9ila 91E oI | AL weire ST B
a4 Biare o g v T i e fere o <iE e i A WiCs, T Wi NS TS

Wt i MIAR T GG el B A, T e Uiy el (e msA A e (KRGS

TS W T |
101, =itz i 52
A = B. bl C. mgerel weedst DL afag

102. 791 gewe 6 qa w9 ¢

A.afig e ot B. R« F6 C. 4By vz

103, 73 4o [ g5 am ¢

A. «fiy oA €5t T g
B. afiy s Bifits o3 =& sigA
C. e aivara s e v s

D. e«zd qoie 993

104, sieq < Foidrs % 5’5 —

A, Frees B. wfgs C. m=sha
105. s wreq a5 e

AL I B. vl C. o=
106. e Fres

1 rPuge

A st Fieiie Sesiw cafd T
B, 21T w5Te Geok (@R <Ry <
C.  fay 578w % Fimmm e aig

D. s«=g «bie oF

D. soF Jots A=

D. 494 =41



el aeneatl 4l os See 9z Shmies o-

107, Trew fams o8 T9d, SNBAETE (I ¥ 75

igy FaR T4 @94, TEBAEE (98 THS 959 |

A, 2T TG @

C. it 4ieg um
108. B whEaers TH |

1 it 91|

A, 2 Wl oF

C. wealbl 4=s oF
109. figae@i

= wylite 7E|

A. g9 Tl w5

C. a5l amE U5
110. = i MR 99

cad SR7A fAEsEim 1T |

A %% AR 9%

C. qrai3: A 8%

uy Tee gl Giewies 3

A. =T B. S

A. Baal B. e
113, ors gre BT O e i

A. 3% B. mrel 1S

114, w750 BVES G4 TE GEE . e o e

A olfEr B. cilvg

115, fsis T2rs 775 49 (6 o oo o oo

A. 7§ B. fega
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B. H&E 9reif g

D. 'ﬁ\mﬁ ELE-HE. 0

B. &Sy o us
1. raiB! 4rms O

B. 5 ot wm
D. TG 3 wew

B. GEw Tmn o5
D. g aFE S

. ares =

. @

C. gwiom

0
g

C. fstergt

D, slgam

D. fasf

D. avma Gbls T

D. 754

D. fagat



Fraleie caem/ srgat 57be og oy 3if Slenmes o

116. siffes w1 aser 41

A. I BT FT (R g |
B, miers flEm oo srrg) )
C. A »@ TRwE T |
D. erfE @bta wow !
117. wifon 107 AR aemial
A, SIS SR 3598 TR A
B. w5 vz Tirs 7w +iifea aEiest )
C. =f5arst Fwne Ra#fea i srst|
D. s Obis 7EF |
118. =s Foa =i
A, BiEal vl |
B. #&tE (s i
C. 7miLE 7o BifEm w4
. e«=q a5ie agh
119. i3 #iiw wetl
A T
B. o«
C. g qrabE we )
D, s4q (A) =% (B) 553 siew
120. corft peifs
A, TER oF T
B. fim @2 o= )
C. (g o 7% |

D. e~/ abie 9g3!
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